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1.  What is the concept of Gross Domestic Product (GDP) and Net Domestic Product
(NDP) ? 14

OR

Explain the concept of National Income to factor cost.

2. Explain the various methods of calculating National Income. 14
OR

Explain the definition of National Income given by Prof. Marshall, Pigou and Fisher.

3. State the reason of population growth in India. 14
OR

Density of population in India.

4.  Discuss the current population policy of Government of India. 14
OR

Explain the theory of Demographic Transition with reference to India.
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(b)

M.C.Q. 07
(1) Net National Product means

(a) Gross Domestic Product — Capital Depreciation

(b)  Gross Domestic Product — Taxes

(¢)  Gross National Product — Capital Depreciation

(2) GNPis than NNP.

(a) more (b) less (c) equal
(3) House wife’s contribution is not calculated in National Income.

(a) No Market Value (b) No Exchange (c) None
(4) What is Gross National Product ?

(a) NDP (b) GDP (c) GNP

(5) Which Governmental Expenses are not included in total National Income ?
(a) Defence Expenses (b) Transfer payments (c) Consumption Expenses

(6) How many methods of calculating National Income ?

(a) Two (b) Three (c)  Four
(7) How much population density in India during 2011 ?
(a) 128 (b) 382 (c) 392
True or False : 07

(1) Population census is conducted after every 5 years in India.

(2) Population of India was 121 crore in 2011.

(3) There is a crave for male child in Indian society.

(4) Guyjarat literacy rate in 2011 was 74.04%.

(5) Third phase of population demography is high birth rate and high death rate.
(6) Kerala literacy rate in 2011 was 93.91%.

(7) People in the age-group of 15-40 are more in India.
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1. (A) Discuss Prof. Robbins definition of Economics. 14
OR
Explain the importance of Economics.
(B) M.C.Q.: 4
(1) The welfare definition of Economics given by
(a) Marshall (b) Adam Smith (c) Robbins
(2)  Scarcity definition of Economics is given by
(a) Marshall (b) Adam Smith (c) Robbins
(3) Who is the Father of Economics ?
(a) Adam Smith (b) Marshall (c)  Robbins

(b)

MG-121

(4) According to the Adam Smith, Economics in the Science of which subject ?
(a) Science of Wealth
(b)  Science of Scarcity
(c) Science of Welfare

What is human need ? Describe the types of human need. 14
OR
State the Factor affecting human needs.
True or False : 4
(1) Human needs are unlimited.
(2) Grain is a primary requirement for person.
(3) The intensity of human need varies.
(4) Human needs often occur.
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(b)

(b)
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Explain the advantages of division of Labour.

OR

State the various types of division of Labour.

True or False :

(1)
2)
€)

Labour divides promote Research.
Labour division is possible everywhere.

Labour division makes the work interesting.

Give the definition of Land and describe the characteristics of Land.

OR

Give the definition of Labour and describe characteristics of Labours.

M.C.Q.
(1)  Which is the most Natural factor of Production ?

(a) Land (b) Capital (©)
(2)  Which is the most dynamic factor of production ?

(a) Land (b) Labour (©)
(3) How many factors of production ?

(a) Two (b) Three (©)

8

Labour

None of these

Four
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